00000000000000 (D0O-00000000 C703) 0 mukaida@hiroshima-u.ac. jp
20160 50 300 18:25 OO0
ooooooooo o
0000100 e6000D000000C000001000006000000.100000000000000 XOO,000000
oooooooooo.oooo,oo00b0booobooboooooooooooo,oo0o0o00oyYooOo0n.
(000000 P(X=kY =20),(k=1,2, ...,6,(=1,2, ..,6)0000.
6

D000 P(X=k)=Y (X=kY=0,(k=1,2, ..,6),PY=0=> (X=kY=0,(=1,2,..,6)0000.

=1 k=1
(3)000 E(X), E(Y)OOD,E(X+Y)=EX)+E(Y)DDO0OOO.
0000
X=1 X=2 X=3 X =4 X=5 X=6 P(Y=¢)
1 10
y=1 — 0 0 0 0 0 P(Y=1)=—
36 360
1 1 14
y=2 — — 0 0 0 0 P =2)=—
36 90 360
1 2 1 21
Y =3 — = — 0 0 0 P(Y=3)=—
36 90 120 360
1 3 3 1 35
Y =4 — — — — 0 0 PY =4)=—
36 90 120 90 360
1 4 6 4 70
Y=5 * 2 o = — 0 P(Y=5)=-—
36 90 120 90 36 360
1 5 10 10 5 1 210
Y =6 — = — — = - P(Y =6)="—
36 90 120 90 36 6 360
P(X=k Px=1=1 | px=2)=1 | P(x=3)=L | P(x=0)=1 | P(x=5)=2 | P(x=6)=_ 1
( = ) ( *)*6 ( *)*6 ( *)*6 ( *)*6 ( **ﬁ*g ( 7)76
1 1 1 1 1 1 21
3)E(X)=1X=42X =4+3X ~4+4X= 45X~ 4+6x ===
(3) BIX) =Ix g+ 2x g3 x ghdxp+bxpt+bxe=1
10 14 21 35 70 210 1851
E(Y)=1xX — +2x — 4+3x 2= 4 4x 16 x —
(V) =1x 365 T2 % 365 +3 X 355 +4 X355 5% 350 7 6% 350 = 360
DDEIIIIEI,E(X)+E(Y)_3316101 00,Z=X+Y0O0OO,Z000000O0O0O0OO.
zZ k=2 k=3 k=4 k=5 k=6 k=7 k=8 k=9 k=10 k=11 k=12
P(Z—k 10 10 14 18 25 35 42 46 50 50 60
Z=k 1 3% 360 360 360 360 360 360 360 360 360 360
E(X+Y)=E(2)
10 10 14 18 25 35 42 46 50 50 60 3111
X e 43X e 4 AN e X e X e F T X e 48X o 49X e 410X - 411 X = 412 x
360 707360 T4 360 T2 360 "0 360 T 360 T° %360 T 360 " 360 360 T 360 360

0000
() P(X=k,Y=0=P(X=k)xP(Y=¢D0O0O00OOOOO.00000,00000.
(i) 00000000000 000000,

ooo.
(111) DDDDDDDDDD,E(a1X1+a2X2+~-~+aan):alE(X1)+a2E(X2)+---+anE(Xn) DDDDD[ME(XY)ZE(X)E(Y)
oooooooooooo. ooo,

EX+Y)= ZZ zk +yo)P(X = a1, Y = y0) ZZMP —xk,Y:ye)-FZZyeP(X:Jlk,Y:ye)

k=1 ¢=1 k=1 ¢=1 (=1 k=1

:imkp( X =uxy) +ZZMP =ye) = E(X) + E(Y)



gooooooooob:.000 ooooo
20160 50 300
oo ooo0o oo

200000 ADBOOD,A00000000p, (0<p<1),BO0O0O0O0O000q (0<¢<1)000.20000000000000

0,A0000 X=1,000 X=-100,BO0000Y=1,000Y=-1000.

() 000000 P(X=kY=0),(k=-1,1,¢=—1,1)0000.
1

(20000 P(X=k)=» P(X=kY=0),(k=-1,1,P(Y ==Y PX=kY=0,(¢=-1,1)0000.
=—1 k=—1

(3)000 E(X+Y), E(XY)0DDOOO.

X=-1 X=1 P(Y =0)

Y=-1 (1-p)(1—q) p(1—q) PY=-1)=1-¢q
Y=1 (1-p)g Pq PY=1)=g¢q
P(X=k) || P(X=-1)=1-p P(X=1)=p 1

P(X+Y =2) 1-p)(1-gq) p(1—q)+ (1 -p)g Pq

EX+Y)=(-2)x(1-p(1-q@+0x{p(l —q)+ (1 —p)g} +2xpg=2p+2¢—2=EX)+ E(Y).

w=-—1 w=1

XY =w p(1—q)+(1-p)g (1-=p)(1—q)+pq

EXY)=(-1)x{pl-q+Q-p)g} + (1) x{(1-p) (1 —q)+pq} =4pg—2p—2¢+1=(2p—1)(2¢—1) = E(X)E(Y).



